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SA: MR
HE: pRlY 25 U AE
©9: 2Red ol (29l 8)
2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O3 & HA 25,500
—&8JIe32 1,500,000& = 12& 18,000
—&ot=ER3 400,000& = 12& 4,800
—SHRI(UHY S) 125,000& » 12&8 1,500
—d3x Ha 300,000& = 13l 300
- 29 2 o2 S fHE
75,000& « 12& 900
OA&ZH ®Xdl 8,106
— dAIZ Y & A 2,000& = 1,153m’ 2,306
— WeEr )] A A 100,000 * 20CH 2,000
—HAIZ FWAZ RN
200,000& = 94 1,800
— A& &Hl S X bl 2,000,000& = 14 2,000
206 M= Hl 700 700 0
01 2l 700 700 0
OXLC KAl HE 2L (4SH S)
40,000& = 103 400
Ost=& tHlg #¢ 5,000& = 15X x 43| 300
405 XH&HE S 8.600 0 8,600
01 et EFFHSHI 8,600 0 8,600
ONTELEA DHAT & T2HEH Y
8,000,000 = 1CH 8,000
Os&UA HY HME 7 600,000 » 1CH 600
MEf 2RO ES 2,400,173 3,308,417 A 908,244
2ZAE 29 2,400,173 3,308,417 A 908,244
HYME) LHOI2 296,000 506,000 A210,000
401 Al HI YL = THYI 296,000 476,000 180,000
01 A& HI 296,000 476,000 A180,000
OdEIcisd AIE2 EHl 30,000,000& 30,000
OMEN-HSA SHEA S5 ZA
30,000,000 30,000
OMENeHsSE 2 AT 2,000,000& = 33 6,000
O¢EDciss 2T E &X
100,000, 000& 100,000
OdEI-ciss CCTV Mot 5 - 2+ &
deay 80,000,000& 80,000
OdEDcisd Z2HE =4 50,000,000& 50,000
SEY Lo S 1,029,442 965,324 64,118
403 XIS E X201 & 1,029,442 965, 324 64,118
02 SO 2SOHSH A2 R 2 E A I 1,029,442 965, 324 64,118
OMED eisst AE2EH X&
1,029,442,000& 1,029,442




2N

AHEf 2t 2 1t
HE: ME B 25
Sl BPAL 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEIs ME HEgE 29 820,961 920, 162 A 99,201
201 £B-2d| 10,000 20,000 A 10,000
01 At 22l 10,000 20,000 A 10,000
Oget==EH| 10,000
—2EZ= HHMEE SES 22 HH
2,0008 * 3,000 6,000
RS MHHEE 22 )IEE 7Y
2,000& = 2,0000H4 4,000
401 Al HI L 2 THHI 20,000 120,000 100,000
01 A& HI 20,000 120,000 A 100,000
OSEE MHUEN ANZE2 Y
20,000, 000& 20,000
403 XSS A0l & 790,961 780,162 10,799
02 S 2S00 HE A= X & AL H 790,961 780,162 10,799
OREL=MHMEER /S 29H &
790,961,000 790,961
SLYUHE RASAE 29 233,770 184,931 48,839
101 14 Hl 61,520 30,781 30,739
04 JIZHHZ2XRHEE S 61,520 30,781 30,739
OAda2ed 54,904
—Jlzs 66,8003 * 2H = 245¢ 32,732
—SE522R 66,8003 * 992 x 2H 13,227
— 28z 45,958,400& = 0.09 4,137
—EAZ 66,8003 * 2% » 30 4,008
— o=l 200,000& = 2H =« 23| 800
OSZMEHE &3 FHI
118,130& » 2% = 42 « 73| 6,616
201 et 152,810 139,610 13,200
01 At 22l 82,310 71,430 10,880
O Eer==EH| 56,650
— HAHE & 7 10,000, 000& 10,000
NME4A HS 8 7 3,000,000& 3,000
— SHOIE HEHI 2,000,000& 2,000
—SRELMEHE EE2= MA
1,000& = 3,0000H 3,000
— M= 5,000& = 158 ~ 123 900
—ARH HE & 7¢ 5,000,000 5,000
—SAsAd 3 AslH| 1,426,000 1,426
—SE3&A Hid dx(Aeg)=
17,0003 = 6l ~ 123 1,224
—dUZHAMHA ==2  600,000& * 123 7,200
— YA A=H| 400,000& » 6 2,400
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A ME2Z
HE: ME B 25
S 2BAE 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—ojoa 08 v+
320,000& = 12& 3,840
—QAMAN AHBR 428
500,000& = 12& 6,000
— 0o S 2B SHS MHIAR
165,000& * 43| 660
—HEHIHES & 7 10,000, 000& 10,000
O2g+y 25,260
— oz y| 50,0008 * 1172 * 1% 5,850
— =3y 50,0008 * 2492 + 1% 12,450
~52Y Hy 3y
60,0003 = 116 » 1H 6,960
o=l 400
—AEZRE=E 2Y 200,000& = 29H 400
02 =24l 70,500 68,180 2,320
O332= ¢ MA 44,400
— &I AIBE 3,100,000& » 12& 37,200
—&ot=E MEZ 300,000& = 12& 3,600
—QHU(TY, ®3t) A2
300,000& = 12& 3,600
Ozl 500
— 0Ol A=l 500,000& 500
OAE ZHI S X 25,600
—SEMEHE SHOXN MHSX & KX 2
gl 3,300,000& 3,300
—SZMEHE AIES X 10,000, 000& 10,000
—XxZ== & 3,000,000& 3,000
— X+ 2 3,000,000& 3,000
— SZMEE 2els UteE A 3,000,000 3,000
—SZMEHE HE L ot FA
2,300,000& 2,300
—Hlo 28 MblA 500,000& = 23l 1,000
202 (44l 4,140 4,140 0
01 2ol 4,140 4,140 0
ORAsAY 2HE4s A =2
172,500& = 28 » 12& 4,140
401 AIEHI L 201 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
OSMAES(RPE2SE HEI=R 8) 294
Hol S&Z A 10,000, 000& 10,000
405 TtabF S| 5,300 5,400 A 100
01 AL EFHSHI 5,300 5,400 A 100
OJduldx = 1,500,000& * 20K 3,000
OHMIE A DtAaeelkl 22 300,000& =« 1CH 300
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